[ Efficiency vs vertpos |

1072 107 1

M

10 0?
TP vertr (cr%)
Efficiend

o Iciﬂa ggﬁ..n{vmu. +660evt
E ﬁégé %%igﬁ TEORSLTLIER 1000ewt
~ 0.2

L

S S R A O
L S S
> L . . . . .
TR SOCOU SOV USROS SOURUN U0 SO0 SO
g0-14F : : : : :

£0.12F
a) -
0.1
0.08F
0.06F
0.04F ; : : -
0.02 : Lo SR O | S TR

08550 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2

D>-_0.18:
So.16f
90 14F
CO 12F

0.
0.08F
0.06f
0.04f
0.02F

.0

efficie

Ratio

iy

0.9

08565215 -10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


